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(B) f(50) f(50) f(100) f(100) f(500) f(1000) / [1-F(1000)] 
 

(C) f(5) f(15) f(60) f(100) f(500) f(500) 
 

(D) f(5) f(15) f(60) f(100) f(500) f(500) / [1-F(1000)] 
 
(E) f(5) f(15) f(60) [1-F(100)] [1-F(500)] f(500) 
 
 
 

57. You are given: 
 
 

Claim Size Number of Claims 
0-25 30 
25-50 32 
50-100 20 
100-200   8 

 
 
Assume a uniform distribution of claim sizes within each interval. 
 
Estimate the second raw moment of the claim size distribution. 
 
 (A) Less than 3300 
 
(B) At least 3300, but less than 3500 
 
(C) At least 3500, but less than 3700 
 
(D) At least 3700, but less than 3900 
 
(E) At least 3900 
 

58. You are given: 
 

 31

(i) The number of claims per auto insured follows a Poisson distribution with mean 
� .  
 

(ii) The prior distribution for �  has the following probability density function:  
 

f
e

�
�
�

�

b g b g
b g�

�500
50

50 500

�
 

 
(iii) A company observes the following claims experience: 
 

 Year 1 Year 2 
Number of claims 75 210 
Number of autos insured 600 900 

 
The company expects to insure 1100 autos in Year 3. 
Determine the expected number of claims in Year 3. 
 
 
 (A) 178 
 
(B) 184 
 
(C) 193 
 
(D) 209 
 
(E) 224 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

59. The graph below shows a p-p plot of a fitted distribution compared to a sample. 


